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Answer the following Questions:

n Choose one question of (A) or (B) and
mention what would happen:
a- Bending layers with younger ones in the
center.
b- Rocks affected by two normal faults
sharing the same foot wall.

(Ao ) 2aU01) ke glally Lis f guond| - Zalall i alih 2!y LS Bl e

s AGY A e c

1(2) 91 (1) O auad ) s § ot =)

s e G 13Le

G Oladall 8 sl Ggas |
IS el B Lghus (90

Owsle oty gall G -u
RIEI [N PR (SYE PR B NELE

ﬂ Choose a question of (A) or (B) and
mention the similarities and differences
between:

a- Pumice & obsidian.
b- Breccias & conglomerate.

103 (9 91 (1) o1 3adt s 500 - Y
1 (e ALY a>gly Al dx> gl [y
Ol g ¥y (e gd | |

O e gl 98T g L p ) -
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n Explain briefly: ¢ lalis b 7 il -
The destructive action of rain. e enigh Jaall

n“The temperature of lakes surface water | obee 3 31,31 as)gd alisen - ¢
changes according to the season” (o o3 | AL O eI
discuss this sentence. | 3,Lat sia 230

Write the number which expresses each 10 js ole J1An @331 Las) -0
of the following: PITRIR RE R N N
a- Number of axes in hexagonal crystal | - o
system. e
b- The hardness of streak plate. -2 el 7 9Y 83Me
3
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n Study the given figure and answer the questions: o @0 YL JSE (uyal -1

a- What is the name of this igneous texture? | o2 ¢ suall grwid! i gl Lo -

b- What is the type of rocks that is S Lt jgiall Al
characterized by this texture and color tone? | 462 jxeiz g3l Hduall pgs Ls
SOe\dlg C-J-‘“-'"' !

n Compare between: 2o (LB -V
The primary and secondary seismic waves in | ado¥ adsiadl adi33 ;31 Sl gol
terms of speed and propagation medium. PP CL{PWES NI {53 X TRAPPON ()

DLaLOY g Ao pud) oo (g0
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ﬂ Justify: rdle -A
Formation of spheroidal shells on the surface | plaw e Jsadt dyg,S H9a8 (1983

of granite. RPN |
n Choose the correct answer: ¢ Aovouall Ayl N1 i -4
The highest energy level of foodisin ........ | ... 2 s 1al) 2Bl g giue el i g
(@ Fish ateuttt (D)
@ Crustaceans. R PPwA-1 { @
@ Phytoplankton. ASLAT OlaSlgt @
@ Protozoa. A0 gt I OL ¥ @
m What would happen when? e Sodomy 13le -\ ¢
Coral reefs grow near the shores. nd Gl L8 Al pelf Gladid| gad
5
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m Explain:

Seawater keeps its characteristics unchanged

in spite of the organic wastes exerted by lgspi il Agaadl CSLaAT
marine organisms. )

(g5l ) BAUL) ) gty L f g - el v i 01 oS Bl i

¢ s = )
o 5 diliumy (niionn yondleLo Jlay

A Jad T SLSIS
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m Study the given figure then answer the | Lee cori @ YL JSEI (uyat -\ Y

following questions: , an
% 1—1
a- What is the name of this feature? : REPCet (R RVNPUR PR
b- In which stage is it formed? IEEWPU PRVt ¢ TP IS

c- What is the shape of river sector in that e plad oisly g Ysid i Le ¢
stage? LFIESOR PRV -

d- Mention one reason of river rejuvenation? S b Gl asl ,850 -

CV/ 017 il gl - s alpol) & lin) EA nj
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m Choose one question of (A) or (B) and | :e2 () of (1) (udfaudl dsi it -\ Y
replace sentence with suitable scientific 1ole JIA elall mllaael! COS|
term: oo 08 rlagh! dedy Blas |

a- zone in the upper mantle consists of partially | JLaiols mews Zaile 20t Hs5mo
molten and elastic rocks that allow spread et Glelga
of convection currents. Ol Aedigal Heiuall (po Ol -0

b- Crushed angular clasts associating faulting. .33 194l Comliald 3al (B g

mChoose one question of (A) or (B) and | :e (<) si (i) ondtaaudt dsi yi0 -1 ¢
choose the correct answer: s Aol Al N i
a- Dolomite which found in Earth’s crust is |3 ,aat! a3 s> gatf o o3 gt gy -

oneof ............ group - | 4e gama (paid Ao Y|
@ silicates OIS @
@ sulphates Gl s @
@ carbonates Ol g ST @

@ oxides S @

b- The main criterion in definition of mineral | $a Ouaet | Cay it wlu ¥ Gadt -G

thatitis—_ |\ 8 ™ L aa v’ b a e T 4548
@ metal L) @
@ non-metal Sy @
(©  liquid substance Al &
@ crystallized substance .3 yLcie 3ale @
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ﬂ Choose one question of (A) or (B) and | :adecais(0) g (1) pdigudt usi i -\o
explain: N1

a- Sea level has a great importance. 15 S el g3 ol i (5 g |
b- The faults differ from joints inspite of they oo 58 1L Ll (e 39l Al -
are fractures in the earth’s crust.

o 315 A B a8 Lagd

mWhat is the importance of ........ ? ' g,n:ts Aiadi HS31 -\
a- biogas. Il ged ) -
b- Feldspar. et o
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m Compare between: 100 (B -\ Y
Luster Play of color
G219 O o e
Definition | =
B L I BB
Epmafle | (o AW da e e e e
P (e \ DA A (T STTL. WA S & AL T V. A D W = /A"

m(Rhyolite — laminated mud) Two | (>aal! (dalt - Codaal ;1) -VA

different rocks: mention: : HLalidne O p3uo
a- properties of Rhyolite. Seed gl pis Olaw eal Le

b- How does the laminated mud (shale) form? § i) (pulal ynis 3355 S

10
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m What would happen? s e Sty 130e -1 4
If wheat is planted in October and P5S1 (S el B ealt TG hely)
November? PP\
m Justify: b Let Yo -Y
Streak is a reliable property for mineral | arols e 508 2ot slaie ¥
1dentification. T PON [P - PO (- D NEN |
m Mention the similarities and differences 1S3 =Y
between: 1000 S (i QOO g Aid) Ao o
Longitudinal dunes and coastal dunes. At L | SLEST 1 39 52
11
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m Study the given figure then answer the | (e i @ SYLI 1 JSEI uyal -V Y

following questions: s AT L Al
®
3 % “’\“plk
O,J/\ =Y. A /\“\—L: ®
2/ Kﬁ/m ikﬁ—{‘nﬁ L ml

a- Write the labels (1) & (4) ‘ (£) (V) Sbledt cas |

b- Mention the type of tectonic plate | aagsidl aS,=I1 g9 mdg-u

movement in the figure. ISt b Aad
c- Give an example for the structure no (3) (1) caS 51 e LS| d

12
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EMention the ways of adaptation of the | & 2 &1 oo a2y cS) - VY
following organisms: %W {i (R beY (5]

a- Deep-water organisms. .Blee ¥ Sl g
b- Fennec fox. LAt Cdad -~
m What is meant by: celaiedl e ML s gaietiLe - Y E

Organized grazing.

ﬂChoose one question of (A) or (B), | (<)ol (1) odtawdt dof i) -Y0

Replace the statement with suitable 1

scientific term: 1o JIAN alal) llaaal! CAS)

a- Geologic time at which continents achieved | 4@ S ousl oo sl g (po) -
their present positions. AT Lga L g

b- Tectonic movement responsible for the | i Liy #19¥1 w95 2S00
formation of transform faults.

.@m‘ & B

13
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mChoose one question of (A) or (B) : 1 (@) 9F (1) o1 3aadt s it - ¥
Choose the correct answer : 1 Aouall Ayl ¥ s
a- Sedimentary succession of paralled layers | (i 5oz grsu) gl o8 S g 131 -
divided into two parts by an erosional | Leglad: (yiujlgie sgoall (yo
surface. Thisiscalled | ... (st S ) OB Gy 2 el
@ disconformity. e lladnl 32143 auc @
@ normal fault. (gale @18 @
@ anticlinal fold. e A @
@ angular unconformity. 91y 32183 puc @
b- Convection currents are abundantin ........ | ........ B Jemd ! Slalga pdiidd -
@ inner core. SIENNS [N { @
@ upper part of the mantle. Zlagl (e s alatt s st @
@ outer core. PP EN (JL] @
@ Earth’s crust. el N1 5y Gt @

ﬂChoose one question of (A) or (B) and | (<) o (1) (el swdt i pZisn =YY
define it: YO

a- Zooplankton. LA gt | Sladlgd! -

b- Biosphere. (S auemd | AMAY

14
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mChoose one question of (A) or (B),
Replace sentence with a suitable
scientific term:

a- Adding water to the mineral composition
that cause chemical weathering.

b- Spits at the bays area and it may close
them to form a semiclosed marine area in
the form of a lake.

15 () 9F (1) ol 3uadf i it - YA
1ole JIAN alal) allacal! LIS

eaald| oS S I sledf AaL) -]
LileasS A gan le Jony Las

I 3o 20950 Ol e 2l -0

B o JS8 ol Blae dcti LSl

(i b1 4A00L) Ayl 8 g - olad L0 el 30 oS Bt i

mChoose one question of (A) or (B) and
mention:
a- The reasons of overhunting animals.
b- The bad effects of urban spreading, and
how to face it.

zg\éLﬂhﬁbSb!)&c%i -Ya

Sl acattol e edl , 831
Ay dlg A 0 Ol gt

S UE PRI G { N 5
U Aga g Jlugg 3 paat
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mReplace the following statement with 1 polal) zllamelf COSH Y

suitable scientific term: S gt doliies Lgad Jio 3,k

Period in which the activity of the night g
animals 1s reduced. N

16
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m Study the figure (soil profile) then answer | ¢liad, pisgs Joslialt JSad1 -¥
the questions: Ay (5B ol y

Write what do the numbers (1) & (2) refer t0 | (v) (1) oled 1 4t jcis Lo S|

and Describe them. R\ | LagiliSia 555

17
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mWhat is the age estimate of rocks contain | gg=i ! j9oall rac Lo -YY

a fossil of an oldest bird? il AuBY 4y 40
mChoose the correct answer: PN oy
All these crystals have perpendicular axes |s.slaie Lajglems Oijsld! sis JS
except the crystal of the ......... system | ... Ala) 3550 fuebe Lifg 3t
@ Tetragonal el @
@ Orthorhombic (LA el @
(©  Cubic QRTINS
@ Triclinic Lt A @
m What would happen when? s e Codomy 130e - Y8
Mica subjects to breaking or pressure. daaiall gl yuSIY ISiall (slan (4o pad
m Justify: 1ok Lat Je YO
Rhyolite differs from granite in spite of their | péy cenirad! (e Ced gl M1 alisa
similarity in mineral composition. el Leges 55 aslis

18
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ﬂ “Marine fish live at 120 m depth”. | Gec Ll Jicad 40 o ASaw) =T
Based on this information, answer the s yie VY
following questions: L AGY A o ol 5ylialt 0l ¢ i B

a- Calculate the pressure which the fish | g o,as gorrdariat! s |
exposed to. O (S o Amitiad | SLSISI Lo —

b- W.hat. are the producers that could be found $ Gand! 1 o3 Lgas i 153
with it at his depth? i

19
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mStudy the figure and answer theloa%ipsgsmds_mw,n vy
questions:  AGY Al

a- Write the names of the structures (1) & (2) | Ot M o) S|
: (7)) (V) O ot guad!

b- What is the type of unconformity? why? | .ol yud §381533 1 pue ¢ .43 Le -

& Write the name of mineral based on the : JS Gle JIa Gdaedt mew! COSH YA

mentioned property. | a0l (oG Ll (pe B)le
a- Salty taste. ' oo Blie Al (uae |
b- Good basal cleavage. i Gueld pladi! A Juas o

20
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mJustify: b Let Jle -Y4
Accumulation of economic phosphate deposits | w,sLaid ¥ cliwsal! cewls) @S1,3
in Egypt during the upper Cretaceous time. (S glall 5 pisLdall yenall 2

m What are the results of: P P W PN {F Yl (PIR 0

Presen.ce of tension force between tWO | . .\ :giss punsl (o i 598 3529
tectonic plates.

m Choose The correct answer: s Aovonall Al W)y - €\
Among geological effect of ground water: o> sl gundl Jaill altae eal Sye
........ 2953 Adn ¥ olialt

@ Water falls. .oleatt dadlice @
@ Oxbow lakes. VPPV (A PO { @
@ Stalactite, stalagmites .delguatiy dasfggl @
@ scratches. PRJESPN PR PWEN{ @

21
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mChoose one questions of (A) or (B) and | : (<) of (1) ot st i pint - Y

compare between: TR
a- Renewable resources, and non-renewable | ssasicl! p& 3541 53amiall 30 gatl -]
resources in terms of definition & examples. Legia JSI Jliog asgaall Co (ye

b- Grazing in area of weeds and grazing .in e M yolae ¥ Ehlie L3 Lo 11 -0
aga of shrubs and trees. In terms of its ¥y O Glalie o
effect on environment. Al e A o (e

mMention the environmental factors that 1S3 ¢ Y
supported the flourishing of the plant | jlasyl 31 sl St aded Gy pats
cover during Carboniferous period. What | . 35,531 juaatf 3 5Lt slaitl
are the resulted economic deposits that | ag il walaid3 ¥ culy 3l Loy
resulted under these conditions? Tlts e

22
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m What is the importance of:
Water moving upward (upward currents)

1 el Lo -£ ¢
§S5ue Laalt Adled | S HLad!

m Choose one question of (A) or (B) and
replace the sentence with suitable
scientific term:

a- Killing or hunting a group of animals to the
limit they become few and become unable
to reproduce.

b- Energy-producing natural matter formed
in Earth million years ago, and what used
from it cannot be compensated.

1@ (@) 91 (1) 13t s j250 -8 0
r e JIA pelal! pllaiael| 4S5
I OB gl (yo e gane oo g Ji -]
1> ALuE Lol 4 e (G2 !
IS |yl e 33018 g
(20,955 JLala T AUIE paedo B3le o
Gudle die (ayY1 bl B
o 9as ¥ Lgie llgiaus Lo g Cpuciaal
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